



Price Sheet Merit-9.16C | Effective: September 5, 2016 | Cancels Price Sheet Merit-10.15C of October 5, 2015

# FOR THE MOST CURRENT PRODUCT / PRICING INFORMATION ON ANVIL PRODUCTS, PLEASE VISIT OUR WEBSITE AT WWW.ANVILINTL.COM

#### **FREIGHT ALLOWANCE:**

All prices quoted F.O.B. our Distribution Centre, Simcoe, Ontario; with full freight allowed on 1,000 lbs. or \$1,500 to recognized delivery points in Canada. All shipments will be made from the nearest distribution centre via the least expensive mode, unless otherwise instructed. Whenever a buyer selects a more expensive method for shipment, or alternate distribution centre, the difference in transportation costs will be for the buyer's account.

#### PRICING

- Pricing is subject to change without notice. Go to Anvil's Website for the most current list price information, or contact your local Anvil representative.
- All orders are accepted on the basis of prices in effect at the time of shipment.
- To the prices and terms quoted, there will be added any manufacturers or sales tax payable on the transaction under any effective statute.

#### **SHIPPING**

- All prices are F.O.B. point of shipment. Title of goods shall pass to the buyer upon delivery of the shipment to the carrier.
- All goods are shipped at buyer's risk. Shipments should be carefully examined upon delivery and before the carrier's delivery receipt is signed. If any loss or damage is evident, the buyer should make an appropriate notation on the delivery receipt and insist that the carrier's driver initial such exception. The contents of all packages should be carefully examined for concealed damage as soon as possible after delivery, so that the carrier can be requested, within 48 hours after delivery, to arrange for prompt inspection of the damaged goods.
- Anvil reserves the right to select the carrier for all shipments.

#### **GENERAL**

- UPC numbers are available upon request.
- To obtain current ISO certifications, listings, and other approvals, visit Anvil's Website at www.anvilstar.com.





#### 1. CONTROLLING PROVISIONS:

These terms and conditions shall control with respect to any purchase order or sale of Seller's products. No waiver, alteration or modification of these terms and conditions whether on Buyer's purchase order or otherwise shall be valid unless the waiver, alteration or modification is specifically accepted in writing and signed by an authorized representative of Seller.

#### 2. DELIVERY:

Seller will make every effort to complete delivery of products as indicated on Seller's acceptance of an order, but Seller assumes no responsibility or liability, and will accept no backcharge, for loss or damage due to delay or inability to deliver caused by acts of God, war, labor difficulties, accident, delays of carriers, by contractors or suppliers, inability to obtain materials, shortages of fuel and energy, or any other causes of any kind whatever beyond the control of Seller. Seller may terminate any contract of sale of its products without liability of any nature, by written notice to Buyer, in the event that the delay in delivery or performance resulting from any of the aforesaid causes shall continue for a period of sixty (60) days. Under no circumstances shall Seller be liable for any special or consequential damages or for loss, damage, or expense (whether or not based on negligence) directly or indirectly arising from delays or failure to give notice of delay.

#### 3. WARRANTY:

Seller warrants for one year from the date of shipment Seller's manufactured products to the extent that Seller will replace those having defects in material or workmanship when used for the purpose and in the manner which Seller recommends. If Seller examination shall disclose to its satisfaction that the products are defective, and an adjustment is required, the amount of such adjustment shall not exceed the net sales price of the defective products only and no allowance will be made for labor or expense of repairing or replacing defective products or workmanship of damage resulting from the same. Seller warrants the products which it sells of other manufacturers to the extent of the warranties of their respective makers. Where engineering design or fabrication work is supplied. Buyer's acceptance of Seller's design or of delivery of work shall relieve Seller of all further obligation, other than expressed in Seller's product warranty. THIS IS SELLER'S SOLE WARRANTY. SELLER MAKES NO OTHER WARRANTY OF ANY KIND, EXPRESSED OR IMPLIED AND ALL IMPLIED WARRANTIES OF MERCHANTABILITY AND FOR A PARTICULAR PURPOSE WHICH EXCEED SELLER'S AFORESTATED OBLIGATION ARE HEREBY DISCLAIMED BY SELLER AND EXCLUDED FROM THIS WARRANTY. Seller neither assumes, nor authorizes any person to assume for it, any other obligation in connection with the sale of its engineering designs or products. This warranty shall not apply to any products or parts of products which (a) have been repaired or altered outside of Seller's factory, in any manner: (b) have been subjected to misuse, negligence or accidents; (c) have been used in a manner contrary to Seller's instructions or recommendations. Seller shall not be responsible for design errors due to inaccurate or incomplete information supplied by Buyer or its representatives.

#### 4. SELLER'S LIABILITY:

Seller will not be liable for any loss, damage, cost of repairs, incidental or consequential damages of any kind, whether based upon warranty (except for the obligation accepted by Seller under "Warranty" above), contract or negligence, arising in connection with the design, manufacture, sale, use or repair of the products or of the engineering designs supplied to Buyer.

#### 5. RETURNS:

Please refer to Anvil International's Canadian Return Material Policy (RMA) available on the website at www.anvilintl.com/CanadaRMA.

#### 6. SHIPMENTS:

All products sent out will be carefully examined, counted and packed. The cost of any special packing or special handling caused by Buyer's requirements or requests shall be added to the amount of the order. No claim for shortages will be allowed unless made in writing within ten (10) days of receipt of a shipment.

Claims for products damaged or lost in transit should be made on the carrier, as Seller's responsibility ceases, and title passes, on delivery to the carrier.

#### 7. SPECIAL PRODUCTS:

Orders covering special or nonstandard products are not subject to cancellation except on such terms as Seller may specify on application.

#### 8. PRICES AND DESIGNS:

Prices and designs are subject to change without notice. All prices are F.O.B. Point of shipment, unless otherwise stated.

#### 9. TAXES:

The amount of any sales, excise or other taxes, if any, applicable to the products covered by this order, shall be paid by Buyer unless Buyer provides Seller with an exemption certificate acceptance to the taxing authorities.

#### **10. NUCLEAR PLANTS:**

Where the products, engineering design or fabrication is for nuclear plant applications. Buyer agrees (a) to take all necessary steps to add Seller as an insured under the American Nuclear Insurers' (ANI) pool and under the Mutual Atomic Energy Reinsurance Pool (MAERP) for property damage and liability insurance and if necessary steps could have been taken, but are not taken, Buyer shall hold Seller harmless against all such losses which could have been thus covered (b) Buyer agrees to hold Seller harmless with respect to any personal injury (or death), property damage or other loss in a nuclear incident which is caused directly or indirectly by defective design, material, workmanship furnished by Seller (or which could be so covered but with respect to which Buyer has elected to selfinsure), and further agrees to waive subrogation by its carriers of such insurance against Seller, and (c) as to nuclear hazards for which Buyer cannot obtain insurance coverage, the liability of Seller for any personal injury (or death), property damage or other loss directly caused by defective design, material, or workmanship furnished by Seller shall not exceed the value at the time of the loss occurrence.

#### 11. MINIMUM INVOICE:

Domestic: \$100 plus transportation. International: \$500 plus transportation.

#### **12. TERMS:**

Cash, net 30 days unless otherwise specified.

NOTE: All orders are accepted on the basis of prices in effect at the time of shipment.

NOTICE: The prices and terms quoted, there will be added any manufacturers or sales tax payable on the transaction under any effective statute.

FREIGHT ALLOWANCE: All prices quoted F.O.B. our Distribution Centre, Simcoe, Ontario; with full freight allowed on 1,000 lbs. or \$1,500 to recognized delivery points in Canada. All shipments will be made from the nearest distribution centre via the least expensive mode, unless otherwise instructed. Whenever a buyer selects a more expensive method for shipment, or alternate distribution centre, the difference in transportation costs will be for the buyer's account.





## **Table of Contents**

Merit 300 Welding Outlets	4–7
Female NPT Welding Outlet	
Type C Sch. 40 Cut Groove Welding Outlet	
Type C/R Sch.10 Roll Groove Welding Outlet	6
Eliminator Adjustable Pipe Nipple	7

Revised:\_\_\_\_\_ www.anvilintl.com

3



## Merit 300 Tee-Let®, Female NPT Welding Outlet



- Fittings are manufactured from highly weldable steel conforming to ASTM A-53, Grades A or B, Type E.
- Threads are cut in accordance with the requirements of ANSI B1.20.1, 300 lb. class, national standard for tapered pipe threads.
- UL / ULC Listed and FM Approved for use in fire sprinkler systems installed in accordance with the requirements of NFPA Buletin 13.
- Rated for 300 PSI operation in fire sprinkler systems.

relaing Outlet						
NOM. OUTLET SIZE (INCHES)	NOM. HEADER SIZE (INCHES)	NOMINAL SIZE (MM)	WGT. EACH (LBS.)	LIST PRICE	BOX QUANTITY	BOX WEIGHT
1/4***	x 1/4-8	6 x 6 - 200	0.08	\$8.69	1,000	80.00
1,	x 1 1/4-2 1/2	15 x 40 - 65	0.17	\$8.90	350	59.50
1/2	x 3-8	15 x 80 - 200	0.17	\$8.90	350	59.50
3/4	x 1 1/4-2	20 x 40 - 50	0.25	\$8.90	250	62.50
/4	x 2½-8	20 x 65 - 200	0.25	\$8.90	250	62.50
	x 1 1/4	25 x 32	0.33	\$12.93	175	57.75
1	x 1 ½-2	25 x 40 - 50	0.33	\$12.93	175	57.75
1	x 2 ½-4	25 x 65 - 100	0.33	\$12.93	175	57.75
	x 5-8	25 x 125 - 200	0.33	\$12.93	175	57.75
	x 1 ½	32 x 40	0.53	\$18.91	95	50.35
11/4	x 2-2½	32 x 50 - 65	0.53	\$18.91	95	50.35
1/4	x 3-4	32 x 80 - 100	0.53	\$18.91	95	50.35
	x 5-8	32 x 125 - 200	0.53	\$18.91	95	50.35
	x 1 ½ **	40 x 40	0.48	\$22.75	65	31.20
	x 2	40 x 50	0.48	\$22.75	65	31.20
11/	x 2 ½	40 x 65	0.48	\$22.75	65	31.20
1½	x 3-4	40 x 80 - 100	0.48	\$22.75	65	31.20
	x 4	40 x 100	0.48	\$22.75	65	31.20
	x 5-8	40 x 125 - 200	0.48	\$22.75	65	31.20
	x 2**	50 x 50	0.86	\$30.03	35	30.10
	x 2 ½	50 x 65	0.83	\$30.03	35	29.05
	x 3	50 x 80	0.83	\$30.03	35	29.05
2	x 4	50 x 100	0.80	\$30.03	35	28.00
	x 5	50 x 125	0.74	\$30.03	35	25.90
	x 6	50 x 150	0.74	\$30.03	35	25.90
	x 8	50 x 200	0.74	\$30.03	35	25.90
	x 2½**	65 x 65	1.25	\$53.04	20	25.00
	x 3	65 x 80	1.20	\$53.04	20	24.00
2½	x 4	65 x 100	1.15	\$53.04	20	23.00
2/2	x 5	65 x 125	1.15	\$53.04	20	23.00
	x 6	65 x 150	1.15	\$53.04	20	23.00
	x 8	65 x 200	1.15	\$53.04	20	23.00
3	x 3**	80 x 80	1.55	\$102.03	10	15.50
	x 4	80 x 100	1.45	\$102.03	10	14.50
	x 5	80 x 125	1.45	\$102.03	10	14.50
	x 6	80 x 150	1.45	\$102.03	10	14.50
	x 8	80 x 200	1.45	\$102.03	10	14.50
	x 4**	100 x 100	2.85	\$163.72	5	14.25
4	x 5	100 x 125	2.85	\$163.72	5	14.25
4	хб	100 x 150	2.80	\$163.72	5	14.00
	x 8	100 x 200	2.80	\$163.72	5	14.00

<sup>\*</sup> This item sold only in full box quantities.

Revised:\_\_\_\_\_ www.anvilintl.com 4

<sup>\*\*</sup> All size on size Tee-Lets are not FM Approved.

<sup>\*\*\*</sup> Not UL Listed or Approved.





## Weld-Miser® Tee-Let®, Type C Sch.40 Cut Groove Welding Outlet



- Fittings are manufactured from highly weldable steel conforming to ASTM A-53, Grades A or B, Type E.
- UL / ULC Listed and FM Approved for use in fire sprinkler systems installed in accordance with the requirements of NFPA Buletin 13.
- Rated for 300 PSI operation in fire sprinkler systems.

cut Gio	ove welali	ig outlet				
NOM. OUTLET	NOV 1154050		WCT FACU		BOY	DOV
SIZE (INCHES)	NOM. HEADER SIZE (INCHES )	NOMINAL SIZE (MM)	WGT. EACH (LBS.)	LIST PRICE	BOX QUANTITY	BOX WEIGHT
	x 2-2½	25 x 50 - 65	0.55	\$17.57	100	55.00
1	x 2½-4	25 x 65 - 100	0.55	\$17.57	100	55.00
	x 5-8	25 x 125 - 200	0.55	\$17.57	100	55.00
	x 1 1/4 **	32 x 32	0.63	\$17.57	80	50.40
	x 1 ½	32 x 40	0.63	\$17.57	80	50.40
11/4	x 2-2½	32 x 50 - 65	0.60	\$17.57	80	48.00
	x 3-4	32 x 80 - 100	0.60	\$17.57	80	48.00
	x 5-8	32 x 125 - 200	0.60	\$17.57	80	48.00
	x 1½**	40 x 40	0.70	\$18.98	50	35.00
	x 2	40 x 50	0.68	\$18.98	50	34.00
1½	x 2 ½	40 x 65	0.68	\$18.98	50	34.00
	x 3-4	40 x 80 - 100	0.66	\$18.98	50	33.00
	x 5-8	40 x 125 - 200	0.66	\$18.98	50	33.00
	x 2**	50 x 50	0.97	\$20.55	30	29.10
	x 2 ½	50 x 65	0.97	\$20.55	30	29.10
	x 3	50 x 80	0.93	\$20.55	30	27.90
2	x 4	50 x 100	0.93	\$20.55	30	27.90
	x 5	50 x 125	0.93	\$20.55	30	27.90
	x 6	50 x 150	0.90	\$20.55	30	27.00
	x 8	50 x 200	0.90	\$20.55	30	27.00
	x 2½**	65 x 65	1.50	\$29.13	20	30.00
	x 3	65 x 80	1.45	\$29.13	20	29.00
21/2	x 4	65 x 100	1.45	\$29.13	20	29.00
2/2	x 5	65 x 125	1.45	\$29.13	20	29.00
	x 6	65 x 150	1.45	\$29.13	20	29.00
	x 8	65 x 200	1.40	\$29.13	20	28.00
	x 3**	80 x 80	2.07	\$38.13	15	31.05
	x 4	80 x 100	2.00	\$38.13	15	30.00
3	x 5	80 x 125	2.00	\$38.13	15	30.00
	x 6	80 x 150	1.93	\$38.13	15	28.95
	x 8	80 x 200	1.93	\$38.13	15	28.95
	x 4**	100 x 100	4.00	\$59.51	5	20.00
4	x 5	100 x 125	4.00	\$59.51	5	20.00
4	x 6	100 x 150	3.80	\$59.51	5	19.00
	x 8	100 x 200	3.60	\$59.51	5	18.00
	x 5**	125 x 125	6.00	\$88.98	4	24.00
5	хб	125 x 150	6.00	\$88.98	4	24.00
	x 8	125 x 200	5.75	\$88.98	4	23.00
6	x 6**	150 x 150	8.00	\$120.63	3	24.00
J	x 8	150 x 200	8.00	\$120.63	3	24.00
8	x 8**	200 x 200	10.00	\$152.57	-	0.00

<sup>\*</sup> This item sold only in full box quantities.

Revised:\_\_\_\_\_\_ www.anvilintl.com 5

<sup>\*\*</sup> All size on size Tee-Lets are not FM Approved.





## Weld-Miser® Tee-Let®, Type C/R Sch.10 Roll Groove Welding Outlet

- Fittings are manufactured from highly weldable steel conforming to ASTM A-53, Grades A or B, Type E/A-135/A-795.
- UL / ULC Listed and FM Approved for use in fire sprinkler systems installed in accordance with the requirements of NFPA Buletin 13.
- Rated for 300 PSI operation in fire sprinkler systems.

NOM. OUTLET SIZE (INCHES)	NOM. HEADER SIZE (INCHES)	NOMINAL SIZE (MM)	WGT. EACH (LBS.)	LIST PRICE	BOX QUANTITY	BOX WEIGHT
214	x 21/2**	65 x 65	1.50	POA	20	30.00
	x 3	65 x 80	1.45	POA	20	29.00
	x 4	65 x 100	1.45	POA	20	29.00
2½	x 5	65 x 125	1.45	POA	20	29.00
	x 6	65 x 150	1.45	POA	20	29.00
	x 8	65 x 200	0.95	POA	20	19.00
3	x 3**	80 x 80	2.10	POA	15	31.50
	x 4	80 x 100	2.00	POA	15	30.00
	x 5	80 x 125	1.27	POA	15	19.05
	x 6	80 x 150	1.93	POA	15	28.95
	x 8	80 x 200	1.93	POA	15	28.95
4	x 4**	100 x 100	4.00	POA	5	20.00
	x 5	100 x 125	2.20	POA	5	11.00
	x 6	100 x 150	3.80	POA	5	19.00
	x 8	100 x 200	3.80	POA	5	19.00
6	x 6**	150 x 150	8.00	POA	3	24.00
	x 8	150 x 200	8.00	POA	3	24.00

<sup>\*\*</sup> All size on size Tee-Lets are not FM Approved.

Revised:\_\_\_\_\_ www.anvilintl.com 6





## Eliminator Adjustable Drop Nipple, NPT Threads; ADN-102



- UL Listed, FM Approved, and BSA-NYC Approved for installation to NFPA Bulletin 13 requirements. VDS approved for the European Market.
- Cold formed from steel conforming to ASTM A-53, grades E or F/A-135.
- Each unit is hydrostatically tested to insure "O-Ring" integrity prior to shipment.
- Each unit is marked with a lot number to insure full traceability.
- Qualifying tests on all models are performed at 1500 PSI, while the various models are rated for 300 PSI operation.

MODEL	INLET X OUTLET (INCHES)	ADJUSTMENT (INCHES)	WGT. EACH (LBS.)	LIST PRICE	BOX QUANTITY	BOX WEIGHT
F1.150	1 x ½	x 1	0.80	POA	75	60.00
F2.150	1 x ½	x 2	1.00	POA	50	50.00
F3.150	1 x ½	x 3	1.25	POA	50	62.50
F3.175	1 x ¾	x 3	1.20	POA	35	42.00
M1.150	1 x ½	x 1	1.00	POA	50	50.00
M3.150	1 x ½	x 3	1.25	POA	36	45.00
ME3.150	1 x ½	x 3	1.50	POA	32	48.00

<sup>\*</sup> This item sold only in full box quantities.



## **CORPORATE OFFICES**

2 Holland Way Exeter, NH 03833

Tel: 603-418-2800 • Fax: 603-418-2833

E-mail: sales@anvilintl.com

## **CUSTOMER SERVICE CENTERS**

### **UNITED STATES**

Illinois

Tel: 708-885-3000 • Fax: 708-534-5441

Toll Free: 1-800-301-2701

Texas

Tel: 972-871-1206 • Fax: 972-641-8946

Toll Free: 1-800-451-4414

Rhode Island

Anvil EPS - Engineered Pipe Supports

Tel: 401-886-3000 • Fax: 401-886-3010

Toll Free: 1-877-406-3108

**CANADA** 

Ontario

Tel: 519-426-4551 • Fax: 519-426-5509

**EUROPE AND MIDDLE EAST** 

Tel: +31-53-5725570 • Fax: +31-53-5725579

International Customer Service

Tel: +1-708-885-3000 • Fax: +1-708-534-5441

MEXICO, PUERTO RICO AND LATIN AMERICA

International Customer Service

Tel: +1-708-885-3000 • Fax: +1-708-534-5441

## **REGIONAL DISTRIBUTION CENTERS**

## **UNITED STATES**

Illinois

7979 W. 183rd Street, Unit D Tinley Park, IL 60484

Texas

1401 Valley View Lane, Suite 150 Irving, TX 75061

Pennsylvania

800 Malleable Road Columbia, PA 17512 California

1470 S. Vintage Avenue Ontario, CA 91761

Florida

236 Outlook Point Drive, Suite 100 Orlando, FL 32809

### INTERNATIONAL

Canada

390 Second Avenue, Simcoe P.O. Box 40 Ontario, Canada, N3Y 4K9

BUILDING CONNECTIONS THAT LAST

















